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Review - Section 7.1-7.2
Algebra 2

Show all work for credit!! Box your answers!!

ldentify each function or situation as an example of exponential growth or decay. What is the function’s
percent increase or decrease? What is the y-intercept?

Function Exponential Growth Percent y-intercept
(G) increase/decrease
Exponential Decay (D)
1. y=1298(163)° G 3% (0,129%)
1 P 4

2, y=0.8(§) D 8.5 (0,.8)

2, \x
3. y=2(6) 4 5060 %o (0,%3)
4. y=16(027)" D 13 %o (0,(6)

Write an equation to represent each situation. Find the value of the function after 5 years. 3 = Cl.bx

A population of 250 frogs increases at an annual rate of 22%.

Y= aso(l,aa)x e SZSO(I.QQ)S
Y= 5.8 or WD Wop
6. A stock priced at $35 increases at a rate of 7.5% per year.
S
, Y = 35 (1.015)" Y= 2501.075)
. y #50.25

7. A $47,500 delivery van depreciates 11% each year.

5
y = 41,500 (+89)" y =u,500 (.84)
Uz $aks4 .28

8. A population of 115 cougars decreases 1.25% each year.

W = WS (Lans) Y= \\5(.%75)5
Y= 10F.94 o 03 Lol




9. Suppose the population of a certain endangered species decreases at a rate of 3.5% per year. Yqy
have counted 80 of these animals in the habitat you are studying.

a) Predict the number of animals that will remain after 10 years.

9':80("003)‘5)\0 S5.02 or Skbanimals
Y= 9qu9)"°

b) At this rate, after how many years will the population first drop below 15 animals?

15 = %0(.969)" e Jlavs

10.  On their federal income tax returns, many self-employed individuals can depreciate the value of
the business equipment they purchase. Suppose a computer valued at $6500 depreciates at a rate of
14.3% per year. After how many years is the value of the computer less than $2000?

Q000= WSO (| -, lqg)t 9
2000 = ¢S0o(.85%)° s

\%‘;/ Calcium-47 is used for scanning bones for suspected disorders. It has a half-life of 113 hours.
rite the exponential decay function for a 105-mg sample. Use the function to find the amount of @

calcium-47 left after 350 hours.

30
Y = \05(.5)"53 3,35 Mg
t= 350 w30

w3

12.  Your 3 year investment of $20,000 received 5.2% interest compounded semi annually. What is

your total return? y
A~ ? A= P+ &))"

- 20,000 L0822 3(3)
Ay A =20000 ( |+ 927) 7
n= Q

A-*3 3,324.97

13
13.  You borrow $59,000 for 2 years at 11% which was compounded annually. What total will you pay
back? y A
P A = 59000 ({ +.11)
v :?\"1000 A 254000 (1.11) 2
n= \ Y :
A= $ 73,043.90

e



You invest $40,000 compounded quarterly at 14% interest. How much is your investment worth

S i
¥ ~‘ l?
T
i 14

o in6.25 years? , gn
- ’) _— [ )
A = F)—qo,ooo(uﬂi)“
}\f > 40000 N
T ald . H -
Ny 44 524.30
t: (.38
15.  How much money will you have in 6 months if you invest $2000 at 3% compounded monthly?
A= A=2000(1+ °.9§)fa~(“/n)
i
P = OO
= ¢ 03
gt $3030.19
£ Leendh
16. You are investing $1500 at 5.2% compounded continuously. How much money will you have in
12 years? rt
= (5 6 = P ¢
g = 1500 Saela
€= A= 1500 é s
r=,05a
= 2 .
s A=a734.57
17.  Ifyou deposit $2500 into an account paying 11% interest compounded quarterly, how long until
| there is $4500 in the account?
| : yt
A= 4500 4500 = 2500 ([ + )
' Y
P :-3as00
Yo H be
a= 4 - )WU(,U\ 5’b%&¥é :
=7 )
18.  An account earning 6.6% interest compounded continuously for 10 years would have a balance of
how ml’l)Ch if the principal was $550? )
A= — SSO 0 \D
D~ 550 A €
€ ' -
c. 0kl A =H1o6 . 1y
t* 0 |
19.  Ateenager saved small dollar amounts throughout the school year and now has $712. They can

choose from two bank offers. The first is 5.3% compounded continuously for six years. The second is
compounded quarterly for five years at 6%. Which account will yield the most money? What is the dollar

amount difference between the accounts at the end of the terms? DS
Q bant| B= A=1712e 0534 bant 2 ; Aalt) =12 (1+ 1’,‘)‘
i V=13 . A 3
a 473, 50 =06 A<958.90

? &Q1§%o 45F 40 C:'osa Y
. - . V<o N =
= 3$14.40 1z @%\r £45
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20. How does the graph y= —2(3)“”l +4 compare
to the graph the parent function y=(3)".
y=(3) y=-2(3)"+4 ;
A E
X y X y % \ i
-3 « 02704 -3 3.91153
-2 I -2 3.935
"1 9 53 '1 3| i l
0 t 0 3,33
1 > 1 a
2 g 2 - .
3 2 3 -4 & x-!
o + 4
yz= a(3)
Domain: | Range: |y-int: | Asymptote: | Reflection: Stretch/ Translation:
Compression:
y=(3) R y>0 [0,V Y=0 X 4 X
('ij)
=-2(3)" +4 . - - ; [ matS ugint
=237 p |y fopay yesd |98 by gaar | Ty
(c0,00) |(-00, 4) v ues Up Y
WuAg
How does the graph of each function compare to the graph of the parent function?
Domain: | Range: | y-int: | Asymptote: | Reflection: Stretch/ Translation:
Compression:
21. - NG \ wwg
= 5 / .
{“d’}@) e‘ CD! L‘\
22.
~y=3(10)° R 4>0 [(0,3)|Y=0 X Sf%d‘n"‘bs X
{:’ 50, \x;) (O |06)
23. ;
B R |ue-8 |03 y=-8 |y C Joukwe 8 | diown 4
Y e e — 8 \
(’C’G/x} ("“D)’g)
- 24. Q O 0 \ @JCM\
Cy=121(5)" y>0 | (0f)) Yy=0 }a |
 JRIH) ( ) ﬂ da) Y X S {ovpd mogse§ fed
- —e0, ) |(0, X) o unde



